710 Bt
HH5) A2

IGQAIE|=

GUIDE-MOUNTED
THIN TYPE CYLINDER
IGQ SERIES \

dEr-0D DISEFQ24LSD

SYOnpoldAbotouyas oReumnatud anelpAH '




§ e

Ahdbs] A2IE |GQ A|2]|= GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES
Model & Specification

[l >E=AH2¥ Standard Specification

4 Type ZF28 Oiless Type
AF2SA| Working Fluid Air
A& Test Pressure 15.3kgf/cm
£ TAFZ 2 Max. set pressure 9.9kgf/cn
A2 Working Temperature -10°C ~ +60°C
M Cushion Rubber cushion
ARAIRE 212,216 1.2kgf/ort
Min. Working Pressure 225.6100 1 Okgf/ont
#5019 atgAtAllowance of stroke length e
DAEAIRELD 212,216 50~500mm/s
Working Piston Speed 2252100 50~400mm/s

andard Stroke Table of Cylinder

[-D(mm) Kinds [-D(mm) Standard Stroke(mm)

IGQM | Sliding Bearing 212~216 | 10,20,30,40,50,75,100
L . |920~225 | 20,30,40,50,75,100
IGQL  |Ball Bush Bearing 2352100 25,50,75,100, 125,150
X BE A S7HUES ATO|AS FAISI0] MGt
O)IGQM20-25st Z=2A| IGQM20-30st2] HIT| LIES 5mm ATH0|A Zf&fet
Mid Stroke and Standard Stroke should be installed with Space.
ex) When order IGQM20-25st, install 5mm Space in the Body of IGQM20-30st.

W () (s @

7H0|=R 4 Hiy Zel

GUIDE-MOUNTED BIS.QE AR g2
THIN TYPE CYLINDER None: No Auto Switch
S1 T 1EA
. . S2 : 2EA
M ERERSS S3 1 3EA
M:0] 11 H|O1E EEEE A
L= 24 o2 Cylinder Stroke SHANY
Type Referto table of e
M: Sliding Bearing standard stroke ST A
L: Ball Bush Bearing Body specification
E S Inside-diameter of Tube None: standard
12-12mm ANo accept 27|52 AQIX| 32 None: No Auto Switch
16=16mm Copper-related Type :A  2E401x| Z7-R245 kind of auto switch - Owned Contact Point
20-20mm
25-25mm
o -aamm 0-A72 | ACTIOV]Use
50-50mm D-A73 ACTI0V. DC24[V] Combined Use
63-63mm ’
80-80mm LY59C ACTI0V. DC24[V] Combined Use
100-100mm
LY598 For DC24[V] 3 lines
LY59A For DC24[V] 3 lines

18| &2



ecioms

710|E B ataly ARIE |GQ A|2|Z= GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES /
@12, @16, 320, 325, 332, 340, 350, P63, @80, 3100

. »=2|0|E 2]™ M Revolution degree of Plate
1-D(mm) Allowance for Revolution degree
IGQM IGQL
12 +0.07 +0.10
@$ ® I

| gi %gg gg +0.06 +0.09
@ @ 4313 +0.06 +0.08
50 +0.05 +0.06

63
80 +0.04 +0.05

100

B> 515404 Mounted Type

ATEE
| | Upper Mounted Type
O o
hsy
S
Low Mounted Type
N s 24
RearMounted Type
x| = 274
gl Bolt Regulation of Fitting Surface
A B 2D Wrench Bolt for
+D(mm) (mm) | (mm) |1GQM | 1GQL itting Surface
12 50 18 10 8 M4*0.7
16 56 22 12 10 M5*0.8
o 20 72 24 14 12 M5#0.8
25 82 30 18 15 M6*1.0
32 80 38 22 18 M8x1.25
40 90 38 22 18 M8x1.25
50 100 44 27 22 M10%1.5
63 110 44 27 22 M10%1.5
A 80 140 56 31 28 M12x1.75
100 170 62 39 33 M14%2.0

www.istc.co.kr |119



§ i

710|= B atuky AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES

LHETZX T Inside Structure Drawings

>R EE Inside Structure Drawings >R EE Inside Structure Drawings
IGQM ®12-25 30st 0I5 IGQL ®12~25 30st 05t

iy T

[
|
gw

-

oo

IGQM 212~25 30st =1t IGQL #12~25 30st =1t

‘V‘iiiiiJ ‘VI I T 7J

B >5ERIAE Parts List

No Name Materials Remarks No Name Materials Remarks
1 ROD COVER AB063 S45C IGQM
2 HEAD COVER AB063 15 | GUIDE ROD SuUJ2 1GQL
3 TUBE AB063 16 | BUSH SLEEVE S20C

4 PISTON AC4C 17 | HOLDER S45C IGQM
8 MAGNET NBR 18 | FELT WOOL |GQM
9 SPACER A2024 19 | PLATE BOLT SCM4

10 | DAMPER-1 URETHANE 20 | SNAP RING-1 SCM4

11 | DAMPER-2 URETHANE 21 | SNAP RING-2 SCM4

12 | PLATE S45C 22 | OILLESS BUSH CU+OIL

13 | PISTON ROD S45C 23 | BOLL BUSH BEAR

14 | GUIDE SPACER A2024

[>T ZRIAE Packing List

[-D(mm
No Name Materials fmm)
212 216 220 225

5 PISTON NBR PSD-12 PSD-16 PSD-20 PSD-25

PACKING
ROD

6 NBR DYR-6 DYR-8 DYR-10SK DYR-12
PACKING

7 COVER NBR S10 S14 S18 S22.4
O-RING

120 | @72



ecioms

10| = Batuka] AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES A

LHETZZE T Inside Structure Drawings

B >UHETRZEE Inside Structure Drawings [ >UHERZEE Inside Structure Drawings
IGQM $32~63 50st 0[5} IGQL ®32~63 505t 0|3}

N7 1
X{K

=

|

g%—%i%

oo oo

IGQM #32~63 50st =1 / IGQL #32~63 50st =1t  /

B >5ERIAE Parts List

No Name Materials Remarks No Name Materials Remarks
1 ROD COVER AB063 S45C IGQM
2 HEAD COVER AB063 15 | GUIDE ROD SuUJ2 1GQL
3 TUBE AB063 16 | BUSH SLEEVE S20C

4 PISTON AC4C 17 | HOLDER S45C |GQM
8 MAGNET NBR 18 | FELT WOOL IGQM
9 SPACER A2024 19 | PLATE BOLT SCM4

10 | DAMPER-1 URETHANE 20 | SNAP RING-1 SCM4

11 | DAMPER-2 URETHANE 21 | SNAP RING-2 SCM4

12 | PLATE S45C 22 | OILLESS BUSH CU+0IL

13 | PISTON ROD S45C 23 | BALL BUSH BEAR

14 | GUIDE SPACER A2024

[>T ZRIAE Packing List

) [-D(mm)

No Name Materials 232 210 250 263

5 PISTON NBR PSD-32 PSD-40 PSD-50 PSD-63
PACKING

6 ROD NBR DYR-16 DRP-16 DRP-20 DRP-20
PACKING

7 COVER NBR S28 S37 546 S60
O-RING

www.istc.co.kr |121



710|= B atuky AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES
LHETZX T Inside Structure Drawings

>R EE Inside Structure Drawings >R EE Inside Structure Drawings
IGQM ®80~100 50st O[5} IGQL ®80~100 50st 0I5

W v i W P?

1k

B £=i—

iﬂ:% “]1 ki
60 | oo

1 |

FrP=——r1 I e

L—F_j

B >5ERIAE Parts List
No Name Materials Remarks No Name Materials Remarks
1 ROD COVER A6063 S45C IGQM
2 HEAD COVER AB063 15 | GUIDE ROD SuUJ2 IGQL
3 | TUBE A6063 16 | BUSH SLEEVE S520C
4 PISTON AC4C 17 | HOLDER S45C IGQM
8 MAGNET NBR 18 | FELT WOOL IGQM
9 SPACER A2024 19 | PLATE BOLT SCM4
10 | DAMPER-1 URETHANE 20 | SNAP RING-1 SCM4
11 | DAMPER-2 URETHANE 21 | SNAP RING-2 SCM4
12 | PLATE S45C 22 | OILLESS BUSH CU+OIL
13 | PISTON ROD S45C 23 | BALL BUSH BEAR
14 | GUIDE SPACER A2024 24 | DU BUSH

[>T ZRIAE Packing List

No Name Materials L
280 2100

5 PISTON NBR PSD-80 PSD-100
PACKING

6 ROD NBR DRP-25 DRP-30
PACKING

7 COVER NBR S75 S95
O-RING

122| &2



ecioms

10| = Batuka] AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES A
Uk General Type

> ©12~0251GQM/IGQL

L-FMdp TLL
F FA (MEArE -5 TAP ZaA
L= 2o 29)
[o] &

|
|
¢DA
FH

@
&

L-@FC thru L-GM dp GL
4-QM thru ¢/b ®FD dp FL\ F FA \ A | B
k‘J/ |
= B I®) ) b rr
A4 ; g 2,P |_r|_
o o { @) = g{:{) . f\/ ® K\A o o
o a L & > N | U GG
! a . [
e = — - o
OO — o o
PA PB] GA
A E_|EA LA+stroke
S | Bestroke E8 A
LL+stroke
?UB |

=

[ 1o

/ o

i N L-TM dp TL
BUA HT @ - /b oTD dp TLL

DETAIL - U o o

www.istc.co.kr |123



ik

710|= B atuky AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES
ke General Type

> ©12-02516QM/1GQL
T2 unit:mm
EB
1D Stroke DA FA
(mm) Range | A | B | C [CA|CB| D DB| E | EA IGQM IGaL F
. (mm) 15800 | 1S6CL
10ST | 20ST | 30ST | 4-541
12 ~ 100 26 | 60 | 13 |125] 13| 6 8 6 | 46| 8 5 0 5 134 | 3 1311312328 7 |20 | 40
16 ~ 100 30 | 67 | 15 |145]| 15| 8 10| 8 | 50 | 8 5 0 51834 | 5 | 20|20 |30 |35 | 7 | 24|44
20 ~ 150 36 | 85|18 |175] 18 | 10 |12 | 10| 58 | 10| 6 3 5 |47 | - 12 | 251 35| 42 | 18 | 24 | 44
25 ~ 150 42 | 95 | 2120521 |12 |16 | 13 | 68 | 10| 6 3 5 |47 | - 18 | 18 | 37 | 48 | 18 | 24 | 44
2l unit:mm
1D Stroke
Range FB | FC | FD | FL | FH FM FLL| GA | GB | GC | GD GM GL | LA | LB P PA | PB | QA
(mm) s
12 ~ 100 25 1 43| 8 |135| 18 | M5x0.8 | 12 | 18 | 50 | 23 | M3 | M4x0.7 | 10 | 29 | 42 | M5x0.8 | 11 | 85| 14
16 ~ 100 27 | 43| 8 |125]| 22 | M5x0.8 | 12 | 22 | 56 | 24 | M3 | M5x0.8 | 12 | 33 | 46 | M5x0.8 | 11 8 16
20 ~ 150 31 |55|95|135| 24 | M5x0.8 | 13 | 24 | 72 | 28 | M5 | M5x0.8 | 13 | 37 | 53 Rc1/8 |105] 9 18
25 ~ 150 35 |55(9.5|145| 30 | M6x1.0 | 15 | 30 | 82 | 34 | M5 | M6x1.0 | 15 |37.5/535| Rc1/8 |115|9.5]| 26
&2l unit:mm
LL
1D Stroke
(mm) Range IGQM IGQL QB QM R S ™ TL|TD |TLL]UU | UA|UB |UC|UD
mm i)
10ST | 20ST | 30ST | 40551
12 ~ 100 42 | 47 | 76 | 45 | 55 | 55 | 65 | 70 | 48 | M4x0.7 | 58 | 22 | M5x0.8 6 [4.5/23| 3 |35/ 3|6
16 ~ 100 46 | 51180 | 51 | 66 | 66 | 76 | 81 | 54 | M5x0.8 | 65 | 25 | M5x0.8 | 10| 6 [4.8/ 24| 3 |35| 3 | 6
20 ~ 150 56 | 58 |100| - | 65| 78 |88 |95 | 70 | M5x0.8 | 83 | 30 | M6X1.0 |12 7 | 8 |28| 3 |35 3 | 6
25 ~ 150 56.5|58.5| 1005 — |71.5|71.5]90.5|1005| 78 | M6X1.0 | 93 | 38 | M6x1.0 |12 | 7 |8.2|34| 4 |45 3 | 6

B >2HE 7Y Holefor fixing
Off X[ & = HHE = Q& AQIX| & 7|Ef 2|EMS ZL0I L HAH S8 JRIH0| 2T 1ZY H0| A8,
Next dimension table and Explantion of Drwaings are used directly to fix and connect Auto Switch and Reed Cable in the cylinder.

I-D (mm) Al B|C| D| E| F | Bolt F
712 3.5 4315/ 23| M3
216 3.7/6.2 2 146/1.5]24] M3
220 5518513578 3 28] M3
225 55/85/35 8 | 3 |34 M5

(@]
N

124 | &2



ecioms

10| = Batuka] AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES A
Uk General Type

> 032-0631GQM/1GQL

4-0OM thru PA PB, CA (B

U=

&
N
w
&
|
|
|
&5
(@)
N>
o

2-P

0 ¢
.
:
o
% ‘
./

L
U20.02
0B

oD

W

@ 1 = oo

oo © W \
SB
QA E_|LEA LA+stroke EB ‘ GA 4-GM,dp GL
SA S [B+stroke
LL+sfroke
L-TM,dp TL
I @ -
w [ —

$UB O

]

i

/ - @

©
Tl oUA HT
DETAIL - U
o o
T TA+stroke

www.istc.co.kr |125



710|= B atuky AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES
Udked General Type

> ©32~0631GQM/1GQL
£l unit:mm
EB
1D Stroke DA
) Range | A | B | C |CA|CB| D E | EA IGQM IGQL
m (mm) ISGCM | 1SGCL
258T | 50ST | 75ST | 100ST | 1258T | 150ST | 25ST | 50ST | 75ST | 100T | 1258T | 150ST
32 ~ 150 53 (11427 | 25 | 26 | 16 | 20 | 16 | 12 | 10 | 232|412 46.2|46.2 512|512 | 4.4 |41.4|46.4|46.4|66.4|66.4
40 ~ 150 57 | 12431 | 25|26 |16 | 20 | 16 | 12 | 10 | 16.7 |34.7 |39.7|39.7 | 447 | 447 | O |34.9|39.9|39.9|59.9|59.9
50 ~ 150 69 (140 39 | 29 | 30 | 20 | 25 | 20 | 16 | 12 | 27.7 | 39.7 | 49.7 | 49.7 | 54.7 | 54.7 | 2.9 | 44.9149.9 1 49.9 | 69.9 | 69.9
63 ~ 150 82 | 150 455|129 |36.5] 20 | 25 | 20 | 16 | 12 |22.7 |34.7 |44.7 | 44.7 | 49.7 | 49.7| O |39.9|44.9|44.9|64.9|64.9
49| unit :mm
LL
1D Stroke
Range GA | GB | GL GM | LA | LB IGQM IGQL P | PA
(mm) s
258T | 50ST | 75ST | 100ST | 125ST | 150ST | 25ST | 50ST | 75ST | 100ST | 1258T | 1508T
32 = 180 38 | 80 | 20 | M8x1.25 | 22 |37.5|59.5|82.7(100.7 | 105.7 | 105.7 | 110.7 | 110.7 | 63.9 | 100.9 | 105.9 | 105.9 | 1259 | 125.9 | 1/8 | 12.5
40 ~ 150 38 | 90 | 20 | M8x1.25 | 22 | 44 | 66 |82.7|100.7 | 1057 | 105.7 | 110.7 | 110.7 | 63.9 | 100.9 | 105.9 | 105.9 | 125.9 | 125.9 | 1/8 | 14
50 ~ 150 44 1100 | 25 | M10x1.5 | 22 | 44 | 72 | 99.7 | 111.7 | 120.7 | 120.7 | 126.7 | 126.7 | 74.9 | 116.9 | 121.9 | 121.9 | 141.9 | 141.9 | 1/4 | 14
63 = 1|50 44 1100 | 25 | M10x1.5 | 31 | 49 | 77 |99.7 | 1117 [ 121.7 | 121.7 | 126.7 | 126.7 | 74.9 | 116.9 | 121.9 [ 121.9 | 141.9 | 141.9 | 1/4 | 16.5
k2| unit:mm
1D Stroke
Range PB | QA | QB QM R S |SA|SB| T |TA|TB | TL ™ U |UA|UB|UC| UL
(mm) e
32 ~ 150 9 | 30 | 96 | M8x1.25 |112| 48 | 2 1 16| 5 [100] 11 | M8x1.25 | 42 | 4 |45] 3 6
40 = |50 10.5| 30 | 106 | M8x1.25 | 122 | 48 | 2 1 17 1 10 110 11 | M8x1.25 | 50 | 4 |45] 3 6
50 = 1180 11140 [ 120 M10x1.5 | 138 | 56 | 2 1 17 | 10 [ 124125 M10x1.5 | 56 | 5 6 4 8
63 ~ 150 13.5| 50 | 130 | M10x1.5 [148| 69 | 2 |[5.5] 19 | 10 |132| 15 | M10X1.5| 66 | 5 6 4 8

B >2HE 7Y Holefor fixing

Ofeh X|==2 & EE" AR = QE ARIX| 3 VB 2|EMS BL0ALL EHAHH S22 HRIT AY nEE HR0| ALEE
Next dimension table and Explantion of Drwaings are used directly to f|>< and connect Auto Switch and Reed Cable in the cylinder.

-D (mm) =8
@32
@40
@50
263
280

2100

>

15

S| S |||

126 | @2



ecioms

10| = Batuka] AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES A
Uk General Type

Il >©80~11001GQM /1GQL

—

[ ]

£,-QM thru PA, PB, L-9FC thru CA (B /MGM,dD GL
[ /(/b®FD,dpFL
o ] G
°O° = B o )
N / © Y &J V)
AR (
{} M
\ (-
= ’& - | o
o J— o8 om
“ 2-p ! S
Y
—————|
fan)
>
[ B | oD o)
D © - = \\)
QA F FA+stroke A
SA S SB A
T TA+stroke L-TM dp TL
] O
|
VA|
O
s
- | [an]
s
=
fol O
L \S%)
E_[_EA LA+stroke EB
LB+stroke
LL+stroke

www.istc.co.kr 127



ik

710|= B atuky AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES
ke General Type

Il > 80~11001GQM /1GQL
T2 unit:mm
EB
1D Stroke OA
(mm) Range | A | B | C |CA|CB| D E | EA IGQM IGQL
. (mm) T6OM | Ta0L
25T | 50ST | 75ST | 100ST | 125ST | 150ST | 25ST | 50ST | 75ST | 100ST | 1258T | 15081
80 ~ 150 |96.5|204| 50 385|465 25 | 30 | 25 | 22 | 18 |23.2|25.3 |53.3|53.3|58.3|58.3|8.5|8.5|72.5|72.5|725]725
100 ~ 150 |1145|238| 58 | 41 |56.5| 30 | 35 | 30 | 25 | 20 |18.8|23.8 |48.8|48.8|53.8|53.8| 4.0 | 4.0 |73.0|73.0|73.073.0
Sl unit:mm
LL
1D Stroke
(mm) Range F |FA|FB|FC|FD| FL | GA | GB | GL IGQM IGQL LA
mm (mm)
25T | 50ST | 75ST | 100ST | 1258T | 150ST | 25ST | 50ST | 75ST | 100ST | 1258T | 15081
80 ~ 150 [20.5|15.5|100| 11 [17.5] 11 | 56 | 155| 30 | 1198 | 1218 | 149.8 | 149.8 | 1548 | 154.8 | 105 | 105 | 169 | 169 | 169 | 169 | 56.5
100 ~ 150 |205| 25 |120| 13 | 20 | 13 | 62 | 184 | 35 | 129.8 | 1348 | 159.8 | 159.8 | 1648 | 1648 | 115 | 115|184 | 184|184 | 184 | 66
el unit:mm
1D Stroke
(mm) Range | LB GM P |PA|PB|PC|QA|QB| QM R| S |SA|SB| T |TA|TB|TL QM
mm (mm)
80 ~ 150 |96.5| M12x1.75 | 3/8 | 19 | 15.2| 28 | 60 | 174 | M12X1.75 | 198 | 80 | 6.5 | 10 |20.5|15.5|182| 18 | M12X1.75
100 ~ 150 | 111| M14X2 [3/8|225|18.8| 35 | 64 |200| M14x2 |231| 95 | 9 [10.5]205| 25 |211] 21 | M14x2.0

B >2HE 7Y Holefor fixing
Off X[ & = HHE = QF AQIX| 5l 7|Ef 2|EMS ZL0I L HAH S8 JRIE0 2T 1ZY A0 A8,
Next dimension table and Explantion of Drwaings are used directly to fix and connect Auto Switch and Reed Cable in the cylinder.

-D (mm) =8
232
240
250
263
280

2100

>

15

—_

S| |||

—_

128 | &



ecioms

10| = Batuka] AMRIE |GQ A|2|Z GUIDE-MOUNTED THIN TYPE CYLINDER IGQ SERIES A
Uk General Type

[l > AUTO S/W B2} b Mounted Method of AUTO S/W
?12~01001GQM /1GQL

AUTO S/W
LY59C
A [Y20B
LY59A
ﬁé%%T??Fﬁ@1;F::éga+
N; @q Y500 L@H
B
(;Ev o12 | 216 | 920 | 025 | 032 | 040 | 050 | ¢63 | ¢80 | 2100
A 15 | 45 | 4 |45 |55 | 95 | 75 | 10 | 13 | 175
B 3 4 8 8 7 | 95 | 115 | 14 | 185 | 235

032~0631GQM /1GQL

i)
©
\

2

(;ﬁﬂ 032 | 240 | 250 | 263
A 95 | 135 | 115 | 14
B 115 | 14 | 155 | 185

www.istc.co.kr |129



